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Instructions : ' '

The figures in the margin indicate full marks.
Answer eight questions, selecting three each from
Section—I and Section—II and two from Section—III.
Candidates are required to give their answers in their
own words as far as practicable.

All questions have been printed both in Hindi and
English. In case of any ambiguity in Hindi version,
the English version shall be considered authentic.
Parts of the same question must be answered together
and must not be interposed between answers to other

questions.
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SECTION—I
Qus—I

1. Critically examine the evolution of Indian -
nationalism since the late 19th century.

106 @d ¥ soad @ vRdg qgER % e H
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2. “Champaran Satyagraha is a watershed in
the freedom struggle.” Elucidate. 38
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3. What were the reasons behind overseas
immigration in the 19th ‘century British
India? Discuss in the light of the indenture
system with special reference to Bihar. 38
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4, Examine the characteristics of tribal protest
in the 19th century with suitable examples.
Give reasons for their failure. 38
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art and

i the features of Mauryan 1

> Erltsz;l;;iture and its .relationship with .
Buddhism.

i e e weH-Ft e 1 et H e
Hifve T g o % Ay IFH dEu W g
Ty

6. Write short notes on any two of tht_e
following 19x2=38

(a) Working Class and National Movement

(b) Impact of census of 1881 on caste and
religious identities

(c) Nehru and secularisxﬁ
ﬁw%@aﬁé%%ﬁﬁmﬁf\m%wﬁm?%ﬁﬁ:
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ggcrioN—II
wug—II

»019? In what way
g0 beyond Income,

7. What is the major fo

does the analysis ey 1C
averages and present condition? Critically
examine. - 38
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w%?ﬁsﬁwﬁmmm,aﬁmaﬂ(mﬂ@ﬁ
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8. Discuss the prospects of trade promotion
d India with the

between Afghanistan an
launching of New Export Route to and from
India through Chabahar Port. 38
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9. Critically examine the key variables that
support well-being as per the United
Nations Sustainable Development Solutions

Network. :
qEaIi & ToeE qE gaH! i HiETHS AT
Hify , v

10. Why does India has an open-door policy

with Nepal and Bhutan as regards free
movement of people between the two

nations? Explain.

38
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Discuss the UAE’s invitation for India as a
Guest of Honour to attend the OIC Foreign
Ministers Meet as a signal change 111

geopolitical dynamics. .
o e § @ieRs heds & E A
ﬁ.m.m.%ﬁ%mnﬁtﬁ%mﬂmﬁﬂm@ﬁ%m
yrg # sff-fe % w9 § 7E & FEEAT w6

faa=ea FifsT .

SEcTION—III .
@US—III :

The following charts depict the distribution
of overseas tourists from India to various

countries and also the age distribution of
tourists from India during the year 2017 :

38
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European Uni.on,
{a) gmsgf;gj taccoun 25% of to?iz'ls:‘;ﬁ
1 it i offici
traffic and 1t 1S
Swiss records that a total of. t4 izrlilc‘il
Indian tourists vis1t<-:elc’1l S;lm er:;1 o
1 ear 2017, then 0OV,
during & tourists 111 the

total number of Indian
age group of 40-49 years went abroad

from India during the year 20177

{b} If the total number of tourists (?f age
group 30-49 1s 2400000, what 18 the
number of tourists who are more than

60 years of age?

(c) If total number of Indian tourists who
went to China more than 40 years of
age, was 360000 constituted 30% of
total tourists to China, then how many
tourists of other age groups went to

China?

(d) Assuming. that the total number of
tourists from India going abroad
increased by 20% in the year 2018,
what will be the total number of tourists
‘in -age group less than 30 in the year
20187

(e) If per capita spending per day of
tourists in UK is ¥ 6,000 and that in
USA is ¥ 5,000 and it is known that

3200000 tourists visited these two
countries, what was the total spending
of the tourists in these countries? 36
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13. The following multiple bar _chart

icle (in
production of same type _.Of vehiecars (by
thousands) for a period of three ¥

i art
selected manufacturers a}nd the 111132(‘;?7 ;
shows prices of vehicles 11 the year @U Lo

Production (in thousands) .~ =~ -
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What is the percent increase in the

production of vehicles in 2017 from
2015?

Which manufacturers have prgduced
the same number of vehicles during the
period under consideration?

‘What percent of the total production of

vehicles is produced by manucacturers
A and D?

For which manufacturer, the profit
percent is maximum in the year 2017?

If the manufacturer D had to call back

4000 of its vehicles due to some defects,

what is percent profit/loss of the
company?
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14. The following graph shows the populations

of three countries during the

years
n012-17 :

75 =
70 e
65

|4t

population (in crore)

2012 2013 2014 2015 2016 2017

(a) What percent of total 'pdpulatio'n is

accounted by the country A in the year
20177

(b) If the sex ratios of countries B and C in
the year 2016 were 1065 and 1052,

what is the number of females in these
countries?

(c) 1f the number of females in the country
" A'in the year 2014 is 21 25 crores, what

is the sex ratio of country A in the year
20177 |

FD/CC/M-2019-02/71 -( Turn Over )
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(d) which year rec‘?rde.d the maximum
or population 11 three countries?

Wwhich year recorded the minimum

e
(e) growth of the population? -
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(m) afe @ A ° Rl i wen @ 2014 ° 2125
e o, @ af 2017 # <0 A § femmud fehern
17
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(z) frw o § swEEn § Ian gig o B TR?
15. The graph below gives exports (3 in
thousand crore) from three companies X, Y

and Z over three years. Study the line graph
and answer the questions given below :

Exports (¥ in 000 crore)

36
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(a) Average annual exports for companies X
and Y, respectively are approximately
what percent of the average annual
exports of company Z during the given

period?
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(c) In which years,
exports of the comp

(d) In which years, the exports

company Z Were m
annual exports of al

(e) What is the percent incre

en the
qverage

the average annual
anies were same?

from

ore than the average
1 the companies?

ase in the total

export of all the companies during the

years 2015-2017 in comparison to the
years 2011-2014? 36
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